Here we consider a signal’s travel time between Beijing and New York.
The signal moves 3x10^8 meters per second.

We want to find whether it can move that quickly in the blink of an eye.

Start out with the speed if light.

It can also be written as 300 Mm/s. Multiply the number by 1000 to show that this is 300,000 km/s.

If it can travel 300,000 km in one second, give it 300 ms of travel time by multiplying the two values.

This gives a distance of 90,000 km.

So the signal can travel the distance between Beijing and China in the blink of an eye.

If we divide 90,000 by 11,000, we see that the signal could travel that distance about 8 times in the blink of an eye.

